Dividing Decimals

0.54 ÷0.06 = 9 (9 groups of 0.06)

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	







0.6÷ 0.2 = 3 (3 groups of 0.2)
[image: https://docs.google.com/a/cms.k12.nc.us/drawings/d/s3c0Kun4KTrbSbfRRdQNvyg/image?w=362&h=59&rev=1&ac=1]
	








	
	
	
	
	
	
	
	
	














Number Line

0.4 ÷0.2 = 4 ( 2 groups of 0.2)

[image: https://docs.google.com/a/cms.k12.nc.us/drawings/d/sLt0vk1DH8ultbgkxFC_R-A/image?w=624&h=280&rev=293&ac=1]

Algorithm

[image: https://docs.google.com/a/cms.k12.nc.us/drawings/d/sSGnZCotG_SpE0DWZLPV6Fw/image?w=605&h=134&rev=131&ac=1]

In the divisor (2.4) move the decimal to right of the number. Moving the decimal 1 time out of the number means to multiply by 10. So 2.4 x 10 = 24. Whatever you do to the divisor you have to do to the dividend. Move the decimal to the right one time in the dividend. So 4.8 x 10 = 48. This creates a new division problem that you can solve.

[image: https://docs.google.com/a/cms.k12.nc.us/drawings/d/sstFGrEZBdwB5cVcxdDZAOw/image?w=606&h=275&rev=209&ac=1]

[bookmark: _GoBack]4.8÷ 2.4 = 2   (2 groups of 2.4)
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